Graphs
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How is a graph different from a tree?
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Convey relationships between
vertices

("is there a bus route from one city
to another")
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One question we can ask about this graph is if we can get
from Manchester to Worcester by following the bus
routes (edges)
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One way to conceptualize the answer is recursively -- we ask our neighbors if
they can get to the destination, and if so, we know we can get to the
destination (that is, answering if we can get from Manchester to Worcester
boils down to asking if we can get from Bostonto:Worcester). More on this in

the typed up notes.



